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Use the figure of Circle Q at right to answer #1 - # 13. If a line appears tangent, assume it is tangent.
#1 - #10: Classify the object. Be as specific as possible.
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11. Name an isosceles triangle: 4 G &B

12. Name a pair of congruent segments that are NOT RADII: F'_z_

Use circle Z to answer questions #13 - #16.
13. Name two congruent segments that are NOT RADII, using only the points shown:
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14. Name two congruent arcs: \3 Y\ =

15. If JK = 10, find the diameter of circle Z.
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Use the figure of circle F at right to find the missing arc or angle measures. A

16.

18.

20.

22,

24.

3
g
I

S
3
o
>
I

mKE=__ 17D 19. mBc=_ S0

58°

Use the figure of circle T at right. Segments that appear tangent are tangent.
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Find the radius of each circle, and determine whether the following pairs of circles are congruent.
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Congruent No
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36. Diameter =8w —6 w= _I_O
Radius of OE = z
Radius of OF = l’l
Congruent? Yes
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37. Find the perimeter of the triangle that is 38. The perimeter of the circumscribed triangle is 120; find
circumscribed around the circles. the value of x.
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Find the radius of the following circles. Assume that segments that appear tangent ARE tangent.
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